AMEETAYHL T YRR—ILER

OHEH: 2014% 8H  24H HEER OREH: H38EI—JH
O S FIREEZI:  18:00 o= i&: EBNBEKES
ORS|LTEL:  20:00 OXiE:2Y OFR : A
F—L% 1Q 2Q 3Q 4Q TOTAL LS
NINKE 17 14 9 40 18 O
EREXZE 0 0 7 7 OfF 1B
BaEA
F—L& 8- B PLAY PLAYER(S) ¥—K TFP PLAYER(S)  BYG/%HNG
AMKE 2 5:15 run #43h & 7 K #33ME F+ G
AMKE 2 10:12 FG #3371k F 29 —
LM KRZE 2 10:30 run #43h 5 7 K #33H G
AMKZE 3 5:17 PR #7480 15 K #337E H G
AMKE 3 10:46 run #28%2 1L 4 K #3371 F G
BREXE 4 2:52 run #OM T K #597h By G
K= 4 6:17 FG #33BEH 27 —
AMKE 4 11:47 pass #1035 Y] —>#83#E I 11 R NG
K-R-
K-R-
K+R*
K-R-
K-R-
K-R-
K-R-
F — L 4% M KE BEREXE
1.77—RME Y EE(CPEVAVES-3: b 11( 9— 2— 0) 6( 83— 33— 0)
2.8 BE-FHI—WAE—ET+ 12—5—-0 10—5—0
gev—r | saves | 68Yds
3o E#%—EFVv—F 35 — 180Yds 26 —  44Yds
4I0%E E#%—EEVY—F 47 — 234Yds 36 — 112Yds
5.5 Al E#%—HBELVY—F 1 - 5Yds 2 — 10Yds
6.77>7 I [ — &% 0—0 5—3
7.74—)LEI—)L [E] %% — R 20 3—2 0—0
8.7 R — LT A K 26:08 21:52
9.3rd-down Conversion 3./11 2./8
10.4th-down Conversion 1.1 0.0
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AIEET A)Hh TR —ILER

® >
NO. Z2X:1 Bl Yards TD A Fi5
43 h E fEeh 11] 35] 2] 8] 3.2
28 21U R A 12| 68 1| 11] 5.7
34 sk K_EB 1 1 of 1 1
10 54 &2& 71 4] o] 21] 06
18 ik K— 2| 32] o 20| 16
21 Rk 3 2| 40 o] 36] 20
® \X
NO. £ A EIE ﬁJZIjJst ‘tYardc D &K FH
10 5Y] & [ 10 54] 1] 23] 54
113K EBF [ 1 0 0 of o 0
100 TEAM [ 1] of of of o 0
oL —T
NO. Z2X: 0] %k Yards TD K Fy
25 KH &N T 2] 13 of 7] 65
14 =H B (3 71 o 7 7
6 #H ME [ 1] 23] o] 23] 23
83 #&y KAl [ 1] 11 1 1] 11
® *voA7o
NO. Z2X:] El¥Yards 1 2 3 4 5 10
[ 13ER £z [ 7] 326]] 50] 36] 40] 49] 55] |
® /\ Uk
NO. C2X:] El#Yards 1 2 3 4 5 10
[ 33 @EH BT T~ 3] 84 30] 30] 24] |
®xvOAT-1)3—>
NO. £ |l E% Yards TD 1 2 3 4 9 10
43 hE g I 1] 42] of 42
61 fALL FLE Il 11 4] of 4
@ /\k1)F—D
NO. Z2X: 0] E% Yards TD 1 2 3 4 9 10
[ 7 HE I 11 18] 1 78] | I
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ci EREXF

HIMBET A)HTybR—)LE

BR
i

B A (EREXSE)
o>
NO. Z2X: 1] Bl% Yards TD K Fiy
83 KR R T 10 -10] o] 8] -1
15 %5 B8 [ 4] 17] o] 12] 43
9T [ 11] 46 1] 22] 4.2
100 TEAM [ 1] -9] o -9
® /X
NO. 2 Hil [% BkThA—tYards TD &K FY
[ 9T & [ 10] 5] o 68/ o] 24| 6.8]
oL —TJ
NO. 2RI [@%1 Yards TD =K Fi3
83 iRk FFE [ 3] 32] o] 24] 11
97 &K Kith [ 1] 19] of 19] 19
24 th|l| & [ 37 o] 17[ 17
® XvoA7
NO. ZX: 1] [B]%4 Yards 2 3 4 5 10
[ 59 % FX [ 2] 75 45[ 30
® /U
NO. Z2X: 1] [B]%4 Yards 2 3 4 5 10
[(24h0 & T 5] 111 39 24] 28] o] 20]
@ VoA )3—>
NO. Z2X: 1] E% Yards TD 1 2 3 9 10
24 th|l| 5 [ 5] 63] of 12 of 21 17
9IRT I 1] -18] ol -18
@ N\ )F—
NO. 281 [@%g Yards TD 1 2 3 4 9 10
® QBY v
NO. Z2X: 1] [B]%4 Yards 2 3 4 5 10
[ 97 &Kk Kih 2 1] 4] 7]




